
51+ 6 =       

80 - 15 =       

53 - 38 =        

17 + 74 =       

32 + 65 =         

48 - 32 =        

Addition and Subtraction Dinosaurs
Cut out the dinosaurs. Complete the calculation on each dinosaur and then sort them by sticking their answer 
onto the correct island. You may wish to work out the answers on the squared paper.
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Addition and Subtraction Dinosaurs

Answer is less than 50
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Answer is greater than 50
Addition and Subtraction Dinosaurs
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Addition and Subtraction Dinosaurs Answers
Cut out the dinosaurs. Complete the calculation on each dinosaur and then sort them by sticking their answer 
onto the correct island. You may wish to work out the answers on the squared paper.

51+ 6 = 57

80 - 15 = 65

53 - 38 = 15

17 + 74 = 91

32 + 65 = 97

48 - 32 = 16
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